~ Ol gy Ol e e e e e e
2, OSi ATLAS+CMS Assumptions: V| =1,V =0 _J k] [ ATLAS+CMS Assumptions: V =1,g, =0 ]
61:> °FE LHCtopwG - s g L LHCtopWG s i
0.06]— s=8Tev ATLAS, L, =20.210" 0.051- s=8Tev ATLAS, L =202 ]
£ +Best Fit s +BestFit |
0.04~ OeswcL F es%cL |
0.02F- Ooswel 3 r 09s%cL
o CMS, L =197 fb* o cMs, L =197 1" |
C X Best Fit L xBestFit |
_0.02F []68% CL - eswcL |
£ []95% CL F []95% CL
_0.04 E -0.05(— —
E ATLAS+CMS 3 L ATLAS+CMS
-0.06— o o *BestFit — = *BestFit
= meswcL ] + mes%CL
—0.08; 95% CL ? -0.1— 95% CL

— C 1 T T T T - T T T | 1l 111 I 111 111l 111 111l 111l 111l 1111

0.1 | | | | L | L | | | | | | | | | L
) -0.15 -0.1 -0.0! 0.05 0.1 0.15 0.2 -0 2 -0 . 0.2 0. 0.

Re(g,) Re(V )



